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. 00000O0o0boo00oo0ooobobo00oo00bDoe+0b+O0c=0000000000O

1 2 1
(a)a=[2],b=|1],e=|1
1 0 1
-1 1
b)ya=|1],b=[1],c=]|1
8 2 -1
2 3 1
(c)a= 1|3, b=11],c=1]2
) -1 3
1 —1 1
(da=(1],b=| 6 |,c= |4
2 -2 2
1 1 1
e)a=|5],b=[1],c=|-5
1 1 1

2. VO 00000020000 1000000000000000000000000000
00 vOoOOooOo f,¢g, h000D00000O000000000 f+0 g+0 AR=00000
oooooo

(a) f=x2—|-2x+1,g:2x2—|—x, h=a24+2z+1

(b) f=22>+40 -2, g=52>+22+1, h=—-T22+22 -5
(¢) f=22—1,g=622+3, h=>5z2+z+2
(d) f

) f

d
(e

3. V000D DDO0O00000000R300000000000000,VO0000000
goog

=3224+1, g=22+22+3, h=2x

=221, g=a’—2, h=2—-1
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